RETFAN 1R7AEXN EBE 02

1. ROFERZMT. (S35, A0, BRK1520%, CH24y)

(1)  3z+20=32 (2) bBr+20=xz-—28

(3)  4x—39=10x—45 (4) 352 —6) =5(5z — 2)
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2. ROFGEAEMBT. (S35, Afks508, Bf14320F, #2454 )

(1) bzx+32=17 (2) Tr-30=42—2z

(3) Tz —39=13z—42 (4) 4Tz —2)=6(bz — 1)
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REFAN 1RAER BE 02 BE®H

1. ROFERZMT. (S35, A0, BRK1520%, CH24y)

Yo THEAZzMRT, L5bhics, B Te =~ &BXD L. BEEFTHEATH 2.

(1) 3x+20=232 (2)  Br+20=2x—28
3z = 32-20 Sr—x = —28—20
3z = 12 o = —48
3z _ 12 e
3 3 4 4
rx = 4 x = —12
(3)  4x—39 =10z — 45 (4)  3(5z —6) = 5(bx — 2)
4r —10z = —45+39 15z —18 = 252—10
—6z = —6 152 — 252 = —10+ 18
—6z  _ —6 ~10z = 8
—6 —6
—10z _ 8
—10 —10
x = 1
4
€T = -
5
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2. ROFGEAEMBT. (S35, Afks508, Bf14320F, #2454 )

(1) bzx+32=17 (2) Tr-30=42—2z
b = 17-32 Tc+x = 42430
b = —15 8z = 72
Sz _ =15 Sz _ 72
5 5 8 8
x = -3 T = 9
(3) Tz —39=13z—42 (4)  4(7x—2)=6(5x—1)
Tr—13z = —42+39 280 -8 = 30z—6
—6x = -3 280 —30r = —6+48
—6 —6
—2z - 2
-2 —2
1
xTr = —_—
2
T = —1
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